NT6035 1625605 A

2019(0dd)

Time : 3Hrs. Sem. VI - Mech.
AESM

Full Marks : 70
Pass Marks : 28

Answer all 20 questions from Group A, each question
carries 1 marks.

Tu-A 9w+l 20 ¥ @ IR T, UAS U BT A [ A5 2 |
Answer all Five questions from Group B, each question
carries 4 marks.
gu-B 9wt uig gl & SR <, UAD U BT AH 43b e |

Answer all Five questions from Group C, each question

carries 6 marks.

7u-C & it ufg 9ol @ SR <, TAS U & A9 6 A 2 |

All parts of a question must be answered at one place in
sequence, otherwise they may not be evaluated.
TP YT & 9] 3 BT SR UP &) oiE (AR HH H)

BT a1fey, 3=gem 4 Wiid -2l ol 9ad 2 |

The figure in right hand margin indicate marks.
< ured & 3id Yuiie & qad 2 |
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10. What is energy audit? Discuss types of energy Gi) @9 91 adievefia suf Sd ﬁﬁgﬁ
audit briefly. vifed S~ A @ oy af¥as wR
6 wR Iyely Ea 87

Soll dE—adger @@ 2? = yeR & (&) R

St Qe B AT § v B (%)
(3) IrE™
() -arda

OR(37214)

(ii))  Why should energy conservation be
encouraged?
(a) To half further growth of GDR
(b) To encourage use of manual labour
(c) To discourage people using luxuries.

Explain in details about performance parameters of

cogeneration system.

ygiaReT ddfd dF & HUCUs Ygsg & fawg (d) To conserve non-renewable energy
¥ frearyd® =t & | source and environments.
(i) oIl HAVT B A Yreared fear s
11. Write short notes on: arag?
(a) Solar distillation (@) Sh<h &1 gfg <1 et Aea & fog
(b) Ways of improving boiler efficiency @) TINIRS 5M & ST Bl dgm@r <=
6 @ fae
: : (@) <M B faeriiar guf aegan &
e e fered ST A @ forv Frecafza s
(80) WX s (]) sdIeroiig SoIf HHEIEHl ¢d qraraRor
(@) ¥ B IHAT DI A DA D AND &) GxRa e @ fore
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Answer all Five Questions.

gl uig gl & SR o

7.

6x5=30

Explain the momentum theory in wind power
generation. Give the classification of rotor used for

wind generation. 6

yqq vfdd Sadred d 9T fRugid & =
&Y | Ua- IU~ DR B ¢ ygad gois &
qiffevor &Y |

OR (3121an)

Draw a neat diagram and explain working of a
KVIC design of biogas digester?

IR SEvivery & KVIC 941de & forg
HRIRTIGId ®T 9of &) Ud Wee IR ©id |

What is Betz co-efficient? Show that the maximum
power co-effecient is 59% for a horizontal axis

wind mill?

NT6035

(vi)

(vi)

(vii)

5 1625605 A

The concentration type solar collectors.

(a) First absorb the radiation and then
increase its concentration

(b) Increase the density of solar radiation
before absorbing it

(c) Dilute the density of solar radiation
before absorbing it.

(d) Increase the intensity of solar radiation
and then reflect it back

ATE YHR & Aok GUTED —

(@) g fafexor &1 sawfa a2
Ud d9 39D IS I 9Td 2 |

(@) wixR fafexor & g9 & ded 2
S AAa H A ugdl

(@) w6k fafexor & g9 B FASIR
Pd B S8 AQINT B | ugd

(?) dR fafexor @ dgar 1 9gd 2
U9 I8 YA 999 uRiafdd s <4 B |

The value of concentration ratio of feat plate:
(a) 1

(b) 10

(c) 100

(d) 1000
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IR A€ T Y& &4 Uq g1l &1 2

How can solar thermal energy be converted into
electrical energy?

R arda ot &1 faea sol 9 a4
BUIRT B ST Ghdl 87

OR (3721dn)

With the help of schematic diagram explain solar
space heating.

FaRer "R SHUT T AT-Tag IR Bl
Heg 9 quie & |

What are the most favourable sites for installing of
wind turbines? 4

Uq- eXEIg &l T & v gaifere
SUYTT WA BB A 2|

OR (372rdn)

Explain thermal energy storage for solar heating
and cooling.

NT6035

(ix)

x)

x)

(xi)

7 1625605 A

Udh Udhel Yqul Aok &I ReR gda

Non- converting solar pond can be used for
(a) Space heating

(b) Greenhouse heating

(c¢) Industrial drying

(d) All

AR e AR add Ugad ........... D
forg ggaa foear <im awar -

(31) siaRer S=+=

@) sRaye S+

() sitenfire emwor

(%) @t

Wind mill works on the principle of:
(a) Rotation

(b) Momentum

(c) Gravitation

(d) Collision
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(xix) ol EAId Sl AT dl Ypfad § 9 Srd (xii) U @faer Fefg ga9 exarsa d§ iR
2 a1 fpr W @ 9 - LLE: R— Rera glar 28—

(@) =T o8 @ SMER W)
) ol @) R & da W)

(@) yrafies st S (@) TR B Rraw w
(4) (31) wd (a) <rav @) fNR @ siex g weg A
@) 3 A B A

(xiv)  Bio-diesel is:
(a) Obtained from formation of sugars

(xx)  Which of the following is highest contributor (b) Obtained from pyrolysis process
to the air pollution? (¢) Exudates of plants
(a) Carbon Monoxide (d) An upgraded vegetable oil
(b) Hydro carbons (xiv) 9SS 28—
(c) Sulphur Oxides (@) 9N B frvaT @ wra
(d) Particulites (8) amu srvEeq ufshar | gt
(@) diel @& vdioq @ gt
() 39 ¥ I 91g ugyT A waifrs (?) t& S=id gefa do
ANTEE QdTl B— :
. (xv)  The gas generated through biomass
(@) s A1 ATRAIES gasification is called:
(a) g‘ls;} m:l' (a) Ethane
o (b) Biogas
(|) HeBX 3THISS

(c) Producer gas
(<) BT (d) Carbon dioxide
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